
X-sect = 6.717E-03(pb)   AVG = 1.010E+00   RMS = 0.000E+00
Tot # Evts =   49979  Entries =   49979  Undersc =     0  Over



X-sect = 6.717E-03(pb)   AVG = 8.404E-04   RMS = 4.099E-02
Tot # Evts =   49979  Entries =   49979  Undersc =     0  Over



X-sect = 6.717E-03(pb)   AVG = 3.237E-01   RMS = 7.366E-01
Tot # Evts =   49979  Entries =   49979  Undersc =     0  Over



X-sect = 6.717E-03(pb)   AVG = 1.130E+00   RMS = 9.916E-01
Tot # Evts =   49979  Entries =   49979  Undersc =     0  Over



X-sect = 6.717E-03(pb)   AVG = 5.460E-01   RMS = 8.910E-01
Tot # Evts =   49979  Entries =   49979  Undersc =     0  Over



X-sect = 6.717E-03(pb)   AVG = 3.599E+02   RMS = 1.056E+02
Tot # Evts =   49979  Entries =   43158  Undersc =     0  Over



X-sect = 6.717E-03(pb)   AVG = 1.398E+02   RMS = 8.910E+01
Tot # Evts =   49979  Entries =      21  Undersc =     0  Over



X-sect = 6.717E-03(pb)   AVG = 1.398E+02   RMS = 8.910E+01
Tot # Evts =   49979  Entries =      21  Undersc =     0  Over



X-sect = 6.717E-03(pb)   AVG = 1.466E+02   RMS = 5.428E+01
Tot # Evts =   49979  Entries =    8083  Undersc =     0  Over



X-sect = 6.717E-03(pb)   AVG = 1.466E+02   RMS = 5.428E+01
Tot # Evts =   49979  Entries =    8083  Undersc =     0  Over



X-sect = 6.717E-03(pb)   AVG = 1.868E+02   RMS = 6.381E+01
Tot # Evts =   49979  Entries =   28157  Undersc =     0  Over



X-sect = 6.717E-03(pb)   AVG = 1.868E+02   RMS = 6.381E+01
Tot # Evts =   49979  Entries =   28157  Undersc =     0  Over



X-sect = 6.717E-03(pb)   AVG = 1.853E+02   RMS = 6.383E+01
Tot # Evts =   49979  Entries =   13612  Undersc =     0  Over



X-sect = 6.717E-03(pb)   AVG = 3.893E+02   RMS = 1.769E+02
Tot # Evts =   49979  Entries =      21  Undersc =     0  Over



X-sect = 6.717E-03(pb)   AVG = 5.127E+02   RMS = 6.095E+01
Tot # Evts =   49979  Entries =    8072  Undersc =     0  Over



X-sect = 6.717E-03(pb)   AVG = 5.030E+02   RMS = 7.856E+01
Tot # Evts =   49979  Entries =   28091  Undersc =     0  Over



X-sect = 6.717E-03(pb)   AVG = 5.047E+02   RMS = 7.737E+01
Tot # Evts =   49979  Entries =   13570  Undersc =     0  Over


